M14x140 - 4x XI
MITOX25 - 1x ORIGINAL
M12x30 - 8x N MI10-1x PP10 - Tx
M14x130 - 4x 'f M12-10x (A, I) / PP14 - 4x M12x40 - 2x E
M12x70 - 2x (A) . M12 - 8x (C) PP12-2x (A, ) ORIGINAL
M12x20 - 2x (1) ] PP12- 4x (C, V)
M12x19 - 4x (C) M8x30 - 4x Z
ORIGINAL

MI12x19 - 4x

MT10x25

MT12x30 A

M12x70 - 2x

M12x90 (10.9) - 2x
| 110 Nm

VW AMAROK, FORD RANGER A
IC 25001 Kéd: VO935(A1.C) - 8. 10. 2023




